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1. After a discount of 34% an article is sold

for ̀  3168. What is the marked price (in Rs)

of the article?

34» dh NwV ds ckn ,d oLrq dks ̀  3168 esa cspk tkrk
gSA oLrq dk vafdr  ewY; (` esa) D;k gS\

SSC CGL 2017

(a) 4750 (b) 4800

(c) 4850 (d) 5000

2. A trader allows a discount of 8% on marked

price. If the selling price is ` 667, the

discount (in `) is:

,d O;kikjh fpfÉr ewY; ij 8» dh NwV nsrk gSA ;fn
foØ; ewY;] 667 gS] rks (` esa) NwV gS%
(a) 47 (b) 54

(c) 58 (d) 43

3. A distributor gives a discount of 12% on

the marked price. If the selling price is `

9240, then what will be the discount on it?

,d forjd fpfÉr ewY; ij 12» dh NwV nsrk gSA ;fn
foØ; ewY; ` 9240 gS] rks ml ij D;k NwV gksxh\

CPO 2018

(a) ` 1260

(b) ` 1109

(c) ` 1192

(d) ` 1140

4. A trader gives a discount of 25% and still

gains 30% profit. If his profit is ` 90, then

the discount in ` is:

,d O;kikjh 25» dh NwV nsrk gS vkSj rc Hkh 30» dk
YkkHk izkIr djrk gSA ;fn mldk ykHk ` 90 gS] rks NwV
` esa gSµ
(a) ` 75 (b) ` 130

(c) ` 100 (d) ` 120

5. The marked price of an article is ` 1000.

After allowing a discount of 20% on the

marked price, a shopkeeper makes a profit

of ` 300. His gain percent is:

,d oLrq dk fpfÉr ewY; ` 1000 gSA fpfÉr ewY; ij
20» dh NwV dh vuqefr nsus ds ckn] ,d nqdkunkj `
300 dk ykHk dekrk gSA mldk ykHk çfr'kr gS%
(a) 40% (b) 60%

(c) 50% (d) 80%

6. A shopkeeper allows 28% discount on the
marked price of an article and still makes
a profit of 20%. If he gains ` 30.80 on the
sale of one article, then what will be the
cost price of the article?

,d nqdkunkj ,d oLrq ds fpfÉr ewY; ij 28» dh
NwV nsrk gS vkSj fiQj Hkh 20» dk ykHk dekrk gSA
vxj og ykHk ,d oLrq dh fcØh ij ` 30-80] fiQj
oLrq dh ykxr ewY; D;k gksxk\
(a) ` 164

(b) ` 154

(c) ` 145

(d) ` 160

7. Aditya bought a bag with 30% discount on
the market price. Had he not got the
discount, he would have paid ` 82.5 extra.
At what price did he bought the bag?

vkfnR; us cktkj ewY; ij 30» NwV ds lkFk ,d cSx
•jhnkA vxj mls NwV ugha feyk gksrk rks og ` 82-5
vfrfjÙkQ pqdkrkA fdl dher ij mlus cSx •jhnk\
(a) ` 192.5

b) ` 275

(c) ` 117.85

d) CND

8. The Selling Price of an article is
` 882. If the discount on it is 16%. What
would be the Selling Price of the article (in
`) if the discount on it is 28%?

,d oLrq dk foØ; ewY; 16» ds NwV ds ckn ` 882
gSA ;fn bl ij NwV 28» gS rks oLrq dk foØ; ewY;
(` esa) D;k gksxk\
(a) 756

(b) 720

(c) 792

(d) 806.4

9. A trader marks up in his goods by 120%
and offers 30% discount. What will be the
selling price (in `) if the cost price is `750?

,d O;kikjh vius vafdr ewY; esa 120» dh o`f¼ djrk
gS vkSj 30» dh NwV nsrk gSA foØ; ewY; (` esa) D;k
gksxk ;fn ykxr ewY; # 750 gS\
(a) 1225 (b) 1080

(c) 1280 (d) 1155

DISCOUNT (cV~Vk)
(CLASSROOM SHEET-02)
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10. Badnam Munni marks an article 36% above
the cost price and allows a 40% discount
on the marked price. The loss percentage
is:

cnuke eqUuh ykxr ewY; ls 36» Åij ,d oLrq vafdr
djrh gS vkSj fpfÉr ewY; ij 40» NwV nsrh gS] rks
mldk uqdlku çfr'kr D;k gS\
(a) 15 (b) 16.8

(c) 4 (d) 18.4

QUESTIONS BASED ON AVERAGE

CONCEPT ON DISCOUNT

11. A trader marked his goods at 20% above
the cost price. He sold half the stock at the
marked price, one quarter at a discount of
20% on the marked price and the rest at
a discount of 40% on the marked price. His
total gain percent is :

,d O;kikjh us vius oLrqvksa ds vafdr ewY; dks muds
Ø; ewY; ls 20» vf/d ij vafdr fd;kA mlus vk/h
oLrqvksa dks muds vafdr ewY;] ,d&pkSFkkbZ dks 20»
dh NwV ij rFkk 'ks"k dks 40» dh NwV ij cspk rks
mldk dqy ykHk çfr'kr D;k gksxk\
(a) 2% (b) 8%

(c) 14% (d) 18%

12. A trader marked his goods at 20% above

the cost price. He sold 
1

7
 of the stock at

70% discount, 
1

3
 of the stock at 60%

discount, one-quarter at a discount of 10%,

1

8
 at a discount of 20% and the rest at  the

market price. His total gain /loss percent
is :

,d O;kikjh us vius oLrqvksa ds vafdr ewY; dks muds
Ø; ewY; ls 20» vf/d ij vafdr fd;kA mlus dqy

LVkWd dk 
1

7
 Hkkx 70» ds NwV ij] 

1

3
 Hkkx 60» ds

NwV ij] ,d&pkSFkkbZ Hkkx 10» ds NwV ij] 
1

8
 Hkkx

20» ds NwV ij  rFkk 'ks"k oLrqvksa dks muds vafdr
ewY;] ,d&pkSFkkbZ dks 20» dh NwV ij rFkk 'ks"k dks
40» dh NwV ij cspk rks mldk dqy ykHk çfr'kr
D;k gksxk\
(a) 22% gain

(b) 22% loss

(c) 28% gain

(d) 28% loss

QUESTIONS BASED ON RELATION

BETWEEN MP. CP, DISCOUNT%
AND P/L%

13. After offering a discount of 23% a seller gains
profit of 21%. Find ratio of C.P. to M.P.

,d nqdkunkj 23» NwV nsdj Hkh 21» ykHk dek ysrk
gSA Ø; ewY; rFkk vafdr ewY; dk vuqikr Kkr djsa\
(a) 7 : 11 (b) 9 : 11

(c) 11 : 7 (d) 11 : 9

14. After offering a discount of 12.5% a seller
gains profit of 20%. Find ratio of C.P. to M.P.

,d nqdkunkj 23» NwV nsdj Hkh 21» ykHk dek ysrk
gSA Ø; ewY; rFkk vafdr ewY; dk vuqikr Kkr djsa\
(a) 35 : 42 (b) 35 : 48

(c) 11 : 7 (d) 11 : 9

15. How much more price than cost price a

shopkeeper should mark on article so that

after giving 30% discount, he gains 20%

profit?

,d nqdkunkj viuh oLrq ij Ø; ewY; ls fdruk vfèkd
ewY; vafdr djsa fd 30 izfr'kr dh NwV ds ckn Hkh
mls 20 izfr'kr dk ykHk gks\

(a)
3

69 %
7

(b)
3

71 %
7

(c)
3

68 %
7

(d)
3

70 %
7

16. Marked price of a radio is ` 480. Shopkeeper
gains 8% profit after giving 10% discount.
If no discount is given then what is his
profit percent?

fdlh jsfM;ks dk vafdr ewY; ` 480 gSA nqdkunkj bl
ij 10 izfr'kr NwV nsus ds ckotwn 8» equkiQk dekrk
gSA ;fn dksbZ NwV ugha nh tk, rks mls fdrus izfr'kr
dk equkiQk gksxk\
(a) 10% (b) 15%

(c) 20% (d) 35%

17. By selling an article for ` 1170 a man allow

10% discount and earn 30% profit. If the

article is sold at 5% discount what should

be the profit percent?

` 1170 esa fdlh pht dks cspdj ,d vkneh 10
izfr'kr cV~Vk nsrk gS vkSj 30 izfr'kr ykHk dekrk gSA
vxj cV~Vk 5 izfr'kr gks rks ykHk izfr'kr Kkr djsa\
(a) 37% (b) 40%

(c)
2

27 %
9

(d)
2

37 %
9
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MISCELLANEOUS QUESTIONS

18. The marked price of an article is 50%

above cost price. When marked price is

increased by 20% and selling price is

increased by 20%, the profit doubles. If

original marked price is ` 300, then

original selling price is

,d oLrq dk vafdr ewY; mlds ykxr ewY; ls 50
izfr'kr vfèkd gSA tc vafdr ewY; dks 20 izfr'kr
c<+k fn;k x;k gS vkSj foØ; ewY; dks 20 izfr'kr
c<+k fn;k tkrk gS rks ykHk nksxquk gks tkrk gSA ;fn
okLrfod vafdr ewY; ` 300 gks rks okLrfod foØ;
ewY; gksxkA
(a) ` 200 (b) ` 250

(c) ` 340 (d) ` 275

19. The ratio of cost price and marked price
of an article is 2 : 3 and ratio of percentage
profit and percentage discount is 3 : 2. What
is the discount percentage ?

fdlh oLrq ds ykxr ewY; o vafdr ewY; dk vuqikr
2 % 3 gS vkSj oLrq ds ykHk o NwV dk vuqikr 3 % 2 gS
rks oLrq dk izfr'kr NwV Kkr djksA

(a)
1

8 %
3

(b)
2

16 %
3

(c) 25% (d)
1

33 %
3

20. If S.P. of a book is 5 times to the discount
offered and discount % is equal to the
profit % then find ratio of discount offered
to C.P. ?

vxj ,d fdrkc dk foØ; ewY;] NwV dk 5 xquk gS
vkSj NwV izfr'kr ,oa ykHk izfr'kr ds cjkcj gS rks NwV
vkSj Ø; ewY; dk vuqikr Kkr djsa\
(a) 6 : 25 (b) 7 : 30

(c) 8 : 35 (d) 9 : 40

21. A manufacturer sells the product to a
wholesaler at 6% profit, the wholesaler
sells the product to a retailer at 8% profit
and the retailer sells the product to his
customer at 10% profit. The price paid by
the customer is ` 31,482. The cost of the
product to the manufacturer is:

,d fuekZrk Fkksd O;kikjh dks 6» ykHk ij oLrq csprk
gSA Fkksd O;kikjh bls [kqnjk O;kikjh dks 8» ykHk ij
csprk gS rFkk [kqnjk O;kikjh bls xzkgd dks 10» ykHk
ij csp nsrk gSA xzkgd ds }kjk nh x;h dher ` 31482
gS] rks fuekZrk ds fy, bl mRikn dh dher D;k gksxh\

(SSC CPO 2019)

(a) ` 28,306 (b) ` 26,524

(c) ` 25,000 (d) ` 26,980

22. A sells an article to B at a loss of 20%. B

sells it to C at a profit of 12.5% and C sells

it to D at a loss of 8%. If D buys it for

` 248.40, then what is the difference

between the loss incurred by A and C?

A us ,d oLrq B dks 20» dh gkfu ij csphA B us
ml oLrq dks C dks 12-5» ykHk ij csp fn;k rFkk C
us og oLrq D dks 8» dh gkfu ij csphA ;fn D us
mls ` 248-40 eas [kjhnk] rks A vkSj C dks gqbZ gkfu
ds chp D;k varj gS\

[CGL 2019]

(a) ` 36.80

(b) ` 38.40

(c) ` 42.60

(d) ` 39.20

23. A manufacturer estimates that on

inspection 12% of the articles he produces

will be rejected. He accepts an order to

supply 22,000 articles at ` 7.50 each. He

estimates the profit on his outlay including

the manufacturing of rejected articles to

be 20%. Find cost of manufacturing each

article?

,d fofuekZrk vanktk yxkrk gS fd fujh{k.k ds le;
mldh oLrqvksa esa ls 12 izfr'kr csdkj feysxhA og
` 7-50 izfr oLrq dh nj ls 22000 oLrqvksa dk vkWMZj
ysrk gSA og vanktk yxkrk gS fd dqy [kir ij mldk
ykHk izfr'kr 20 gksxkA ,d oLrq dk Ø; ewY; Kkr
djks\
(a) 6.5 (b) 5.5

(c) 6 (d) 5

24. An article is sold at a certain price. If it is

sold at 33.33 % of this price, there is a loss

of 33.33 %. What is the percentage profit

when it is sold at 60% of the original

selling price?

,d oLrq ,d fuf'pr ewY; ij cspk tkrk gSA ;fn bls
bl ewY; ds 33-33» ij cspk tkrk gS] rks 33-33» dh
gkfu gksrh gSA ewy foØ; ewY; ds 60» ij csps tkus
ij çfr'kr ykHk D;k gS\

SSC CGL Tier-II, 11 September, 2019

(a) 20

(b) 30

(c) 33.33

(d) 17.33
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